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1. sin(A + B) = sinA cosB + cosA sinB

2. sin(A—B) = sinA cosB — cosA sinB

3. cos(A + B) = cosA cosB —sinA sinB

4. cos(A—B) = cosA cosB + sinA sinB
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i 1. 2sinA cosB = sin(A + B) + sin(A — B) )
2. 2cosAsinB = sin(A +B)—sin(A—B)
3. 2cosAcosB = cos(A + B) + cos(A—B)
4. 2sinAsinB = cos(A —B) —cos(A + B)
\ y

M0enaN 10 avA1ved 2Sin5xcos3X

35 2sin5xcos 3x

M0e9N 11 99199 2C0S3XSIN X

35M 2cos3xsin X _



A9enaN 12 3rIAed 8C0S10XCos6X

35M 8c0s10x cos 6x _

Meenan 13 aviAwes 3Sinbtsin 2t

35 3sin5tsin 2t _

M089N 14 93 IAIUDY SIN 2XCOS8X

35M sin 2x cos8x _
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